INT CON Std. Mean Difference Std. Mean Difference
Study or Subgroup Std. Mean Difference  SE Total Total Weight I, Randormn, 95% CI I, Random, 95% Cl
Daonath et al. 2015%° 0.53 0.32 22 19 11.9% 0.53[-0.10,1.18] b
Goodway & Branta 2003 1.28 0.29 kil 28 127% 1.28[0.71,1.858] —
Goodway et al. 2003 117 027 33 o 13.2% 1.17 [0.64,1.70] —_—
Hardy et al. 2010*° 012 011 218 1368 17.2% 012 [-0.10,0.34] ™
Hashemietal 2015 1.36 0.29 an a0 127% 1.36[0.79,1.93] —
Jones etal. 2011* 0o 02 52 45 151% 0.06 [-0.33, 0.45] i
Fask etal. 2012*° 025 011 261 136 17.2% 0.25[0.03, 0.47] e
Total {95% CI} 647 424 100.0% 0.63 [0.26, 0.99] -

Heterogeneity Tau®= 0.19; Chi*= 39.24, df= 6 (F < 0.00001); F= 85%

Testfor overall effect: £=3.35 (P = 0.0008)
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INT CON

Std. Mean Difference

-2 -1 1] 1

Favours [COM] Favours [IMT]

Std. Mean Difference

Study or Subgroup Std. Mean DilTference  SE Total Total Weight I, Randorm, 95% CI IV, Random, 95% CI

Donath et al. 2015* 0.2 0.3 22 19 126% 0.20[-0.41, 0.81] T

Gooohway & Branta 2003 288 0.36 Kl 28 11.4% 2.88[1.87,3.29] e
Goodway et al. 2003 113 0.27 33 30 13.5% 1.13 [0.60D, 1.66] —_—

Hardy et al. 2010* 035 011 219 136 16.8% 0.35[0.13, 0.67] —+

Hashemietal 2015 0.36 0.26 30 30 137% 0.36 [-0.15, 0.87] T

Jones etal 2011* 021 02 52 45 151% 0.21 [-0.18, 0.60] ™

Fasketal 2012*° 0.26 011 261 137 16.8% 0.26 [0.04, 0.48] Il

Total {95% CI) 648 425 100.0% 0.66 [0.26, 1.06] -

Heteroaeneity: Tau®= 0.24; Chi®= 47.09, df= 6 (F = 0.00001); F=87%

Testfor overall effect: Z=3.21 (P = 0.001)

-2 -1 i 1

Favaurs [COMN] Favours [IM

:
;

(o

INT CON Std. Mean Difference Std. Mean Difference
Study or Subgroup Std. Mean Difference  SE Total Total Weight IV, Random, 95% CI IV, Random, 95% CI
Donath etal. 2015*° 047 032 22 19 147% 0.47 F0.16, 1.10] R
Goodway & Branta 2003 163 03 M 28 152% 1.63[1.04,2.27] —
Goodveay et al. 2003 085 0.26 33 30 16.2% 0.85 [0.34, 1.36] —
Hardy et al. 2010 022 041 218 136 19.4% 0.22 [0.00, 0.44] =
Hashemi et al. 2015 184 031 30 30 150% 1.84 [1.23, 2.45] —_—
Zasketal. 2012 028 041 264 136 19.4% 0.28 [0.06, 0.50] -
Total {95% Cl) 508 379 100.0% 0.83[0.37, 1.29] -
Heterogeneity: Tawf= 0.28; Chi*= 44.71, df= 5 (P = 0.000013; F= 589% = t =

Testfor averall effect: £=3.51 (P = 0.0004)

2 A 0 1

Favours [CON] Favours [INT]



